

DÜ

Nebeneinander

65

$u(x,y)$, keine Lösung

- $u \in C^1(0)$
- $\frac{\partial u}{\partial x} \cdot x^2 + (x^2+y) \frac{\partial u}{\partial y} = 0$ mit σ

$u(1,y) = u_0(y)$

Basis: 1 + 9

Gradus: 6 + 9

Parabol: 6 + 9

Partielle Ableitungen: 3 + 9

Kompakt: 5 + 9

Resonanz:

$\frac{dx}{dt} = x^2 \Rightarrow -\frac{1}{x} = (t+c)$ f. $x^2 = \frac{1}{(t+c)^2}$

$\frac{dy}{dt} = x^2 + y \Rightarrow \frac{dy}{dt} = \frac{1}{(t+c)^2} + y$ / e^{-t}

$\frac{d}{dt}(ye^{-t}) = \frac{e^{-t}}{(t+c)^2}$
 $y(t) = e^t \int_0^t \frac{e^{-s}}{(t+s)^2} ds + C_1 e^t$

$t=0$ - Wert $(x_0, y_0) \Rightarrow -\frac{1}{x_0} = C$

$y_0 = C_1 \Rightarrow C_1 = y_0$
 $C = -\frac{1}{x_0}$

$x(t) = \frac{-1}{t - \frac{1}{x_0}} = \frac{x_0}{1 - x_0 t}$
 $y(t) = e^t \int_0^t \frac{e^{-s}}{(s - \frac{1}{x_0})^2} ds + y_0 e^t$

Weder $t=0$, y von x $x(t)=1$

$1 = \frac{x_0}{1 - x_0 t}$

$1 - x_0 t = x_0$

$\frac{1}{x_0} - 1 = t$

$y(t) = e^{-1 + \frac{1}{x_0}} \int_0^{\frac{1}{x_0}-1} \frac{e^{-s}}{(s - \frac{1}{x_0})^2} ds + y_0 e^{\frac{1}{x_0}-1}$

$u(x,y) = u_0 \left(e^{\frac{1}{x}-1} \int_0^{\frac{1}{x}-1} \frac{e^{-s}}{(s - \frac{1}{x})^2} ds + y e^{\frac{1}{x}-1} \right)$

Kontrolle: $\frac{\partial u}{\partial x} = u_0' \left[-\frac{1}{x^2} e^{\frac{1}{x}-1} \int_0^{\frac{1}{x}-1} \frac{e^{-s}}{(s - \frac{1}{x})^2} ds + \dots \cdot \left(-\frac{1}{x^2}\right) + e^{\frac{1}{x}-1} \int_0^{\frac{1}{x}-1} \frac{-2e^{-s}}{(s - \frac{1}{x})^3} ds \right]$

$\frac{\partial u}{\partial y} = u_0' \cdot e^{\frac{1}{x}-1}$

! Korrekt !

! Kontrolle! $\frac{1}{x^2}$ $\frac{1}{x^2}$

2) Kalkulus turan ulaj

$x^2 y'' + y^2 y' = 4^2$
 selajiw ulaj $y^2 = 4^2$ no del $(1/2)$

Revisi

Uraian linier PDR

$x \frac{dy}{dx} + y \frac{dy}{dy} + 2^2 \frac{dy}{dx} = 0 \quad 1$

Barabekij/m

$\frac{dx}{dt} = x$
 $\frac{dy}{dt} = y$
 $\frac{dz}{dt} = 2^2$

$\rightarrow \int \frac{dx}{x} = \int \frac{dy}{y} = \int \frac{dz}{2^2} = 0$
 $\int \frac{d}{dx} (\ln x + \frac{1}{2}) = 0$

$1 \quad U(x, y, z) = U(\ln x - \ln y; \ln x + \frac{1}{2})$

asajiw:

~~$U(x, y, z) = \ln x - \ln y + \frac{1}{2} = 0$~~
 ~~$e^{-2x+1} + \frac{1}{2^2} = 0$~~
 ~~$U(x, y) = \ln x + \frac{1}{2} + (\ln x + \ln y)^2 = 0$~~
 implikasi / mpt.

$U(\ln x - \ln y; \frac{1}{y^2}) = 0$

$1 \quad e^{-2x+1} - \frac{1}{(2/2)^2} = 0$

$1 \quad e^{-2(\ln x - \ln y)} - \frac{1}{\ln x + \frac{1}{2}} = 0$
 $\frac{y^2}{x^2} = \frac{1}{\ln x + \frac{1}{2}}$

$\ln x + \frac{1}{2} = \frac{x^2}{y^2}$

$1 \quad \frac{1}{2} = \frac{x^2}{y^2} - \ln x$

$1 \quad \ln = \frac{y^2}{x^2 - y^2 \ln x}$

$x \frac{\partial U}{\partial x} = \left(\frac{-y^2}{(x^2 - y^2 \ln x)^2} \right) (2x - \frac{y^2}{x}) \cdot x$

$y \frac{\partial U}{\partial y} = \frac{2y \cdot y}{x^2 - y^2 \ln x} + \left(\frac{y^2}{(x^2 - y^2 \ln x)^2} \right) \cdot 2y^2 \cdot \ln x$

$\frac{-2x^2 y^2 + y^4 + 2y^2(x^2 - y^2 \ln x) + 2y^4 \ln x}{(x^2 - y^2 \ln x)^2} = 4^2 \quad \checkmark$